o(0 @) (rad)

o _910*31_...'..'.:.'.'.".'!...'...'.'.'.'.'.'."....'..'..'.'.'.'.".'....'..'..'.'.'.':'
5 r 5 r
14 [ o [
0.5 I Skttt s 0.5 I Skttt s
0 -71 : 2 3 0 -71 : 2
10 1 TPlpg)T (PCA t%obeamliné[f) 10 1 TPp_ (PCA tloobeamllnef)
—=— DQM_mkFit_newBASE3
—e— DQM_mkKFit_new
—— DQM_mKkFit_newANDPL
-5 -5
= 10 £ 10
2 e
2 -
5 o
=Y B
1
1077
0107 010 8l el
T E T E
o4 : o [
0.5 0.5 A kb it S bbb
0 -1 : : 2 0 -—1 ; 2 3
10 ! TPlpg) (PCA t%obeamllné'f) 10 ! TPlpg) (PCA t%obeamliné'f)
2
D_i—
o
)
10°kE
107k
010 Yk il o
T E ’
o r
[OR=] i A
0 -—1 : I : 2 3
10 1 TPlpg)T (PCA t%)obeamlinel)O

107

=
S
o

- . .......I L] .......I L
1081— ------------------------ R R

a(d cot(d))




	Contents
	Page 1


